CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10001 Centre: 100 PRN: 10222000004

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: AMLE RAJU BAHIRJI



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	37	36	73	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	38	32	70	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	38	52	90	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.56(233/300)

CGPA: **9.56(233/300)(77.67%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10002 Centre: 100 PRN: 10222000005

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: BHIRUD SUSHAMA NITIN



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	29	42	71	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	29	38	67	100	4.0	Α	8	32.0
#CPY-T103	Yoga Practical	Р	29	40	69	100	10.0	Α	8	80.0

Pass Exams: SGPA: CPY:8.22(207/300)

CGPA: **8.22(207/300)(69.00%)** Result: **A Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10003 Centre: 100 PRN: 10222000006

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: BOROLE JAYANT PRABHAKAR



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	32	44	76	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	35	46	81	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	35	48	83	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.78(240/300)

CGPA: **9.78(240/300)(80.00%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10004 Centre: 100 PRN: 10222000007

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: DESHPANDE ARCHANA SUMIT



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	34	54	88	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	32	48	80	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	34	48	82	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:10.00(250/300)

CGPA: 10.00(250/300)(83.33%) Result: O Grade

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10005 Centre: 100 PRN: 10222000008

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: DHANGAR GAYATRI SHIVAJI



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	37	44	81	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	38	40	78	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	37	54	91	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.78(250/300)

CGPA: **9.78(250/300)(83.33%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10006 Centre: 100 PRN: 10222000009

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: DHOLE SHIVRAJ JAYRAM



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	37	42	79	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	37	42	79	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	37	51	88	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.56(246/300)

CGPA: **9.56(246/300)(82.00%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10007 Centre: 100 PRN: 10222000010

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: GAVALE NAYANA EKNATH



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	30	58	88	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	28	42	70	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	30	48	78	100	10.0	A+	9	90.0

Pass Exams: SGPA: CPY:9.22(236/300)

CGPA: **9.22(236/300)(78.67%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10008 Centre: 100 PRN: 10222000011

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: GIRASE LALITKUMAR RAVINDRASING



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	38	42	80	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	38	54	92	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	37	55	92	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:10.00(264/300)

CGPA: 10.00(264/300)(88.00%) Result: O Grade

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10009 Centre: 100 PRN: 10222000012

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: JADHAV GAURAV KANTILAL



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	36	38	74	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	32	66	100	4.0	Α	8	32.0
#CPY-T103	Yoga Practical	Р	34	51	85	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.33(225/300)

CGPA: **9.33(225/300)(75.00%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10010 Centre: 100 PRN: 10222000013

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: JADHAV NIHAR BHASKAR



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	38	40	78	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	38	52	90	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	37	57	94	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.78(262/300)

CGPA: **9.78(262/300)(87.33%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10011 Centre: 100 PRN: 10222000014

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: KADHARE JYOTI JIJABRAO



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	30	48	78	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	30	48	78	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	32	45	77	100	10.0	A+	9	90.0

Pass Exams: SGPA: CPY:9.00(233/300)

CGPA: **9.00(233/300)(77.67%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10012 Centre: 100 PRN: 10222000015

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: LAVANE SONALI SATISH



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	30	26	56	100	4.0	B+	7	28.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	40	74	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	34	50	84	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.11(214/300)

CGPA: **9.11(214/300)(71.33%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10013 Centre: 100 PRN: 10222000016

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: MAHAJAN PUSHKAR RAMESH



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	34	54	88	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	36	48	84	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	34	49	83	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:10.00(255/300)

CGPA: **10.00(255/300)(85.00%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10014 Centre: 100 PRN: 10222000017

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: MAHAJAN RAVINDRA RAGHUNATH



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	37	32	69	100	4.0	Α	8	32.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	38	40	78	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	38	54	92	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.33(239/300)

CGPA: **9.33(239/300)(79.67%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10015 Centre: 100 PRN: 10222000018

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: MAHAJAN SANMUKH GANESH



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	32	22	54+2\$	100	4.0	B+	7	28.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	26	60	100	4.0	Α	8	32.0
#CPY-T103	Yoga Practical	Р	28	40	68	100	10.0	Α	8	80.0

Pass Exams: SGPA: CPY:7.78(184/300)

CGPA: **7.78(184/300)(61.33%)** Result: **A Grade**

Date: 26 Feb. 2023

\$ 0.1

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10016 Centre: 100 PRN: 10222000019

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: MARATHE NITIN SHIVAJI



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	34	42	76	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	30	64	100	4.0	Α	8	32.0
#CPY-T103	Yoga Practical	Р	30	48	78	100	10.0	A+	9	90.0

Pass Exams: SGPA: CPY:8.78(218/300)

CGPA: **8.78(218/300)(72.67%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10017 Centre: 100 PRN: 10222000020

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PANDAV ANJALI ASHOK



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	35	52	87	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	44	78	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	35	40	75	100	10.0	A+	9	90.0

Pass Exams: SGPA: CPY:9.22(240/300)

CGPA: **9.22(240/300)(80.00%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10018 Centre: 100 PRN: 10222000021

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PATIL HARSHADA SHARAD



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	34	44	78	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	40	74	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	35	47	82	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.56(234/300)

CGPA: **9.56(234/300)(78.00%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10019 Centre: 100 PRN: 10222000022

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PATIL HARSHADA VIJAY



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	34	38	72	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	42	76	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	35	42	77	100	10.0	A+	9	90.0

Pass Exams: SGPA: CPY:9.00(225/300)

CGPA: **9.00(225/300)(75.00%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10020 Centre: 100 PRN: 10222000023

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PATIL KALYANI RAHUL



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	38	50	88	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	38	60	98	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	37	56	93	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:10.00(279/300)

CGPA: **10.00(279/300)(93.00%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10021 Centre: 100 PRN: 10222000024

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PATIL LALIT NIVRUTTI



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	29	38	67	100	4.0	Α	8	32.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	26	32	58	100	4.0	B+	7	28.0
#CPY-T103	Yoga Practical	Р	16	24	40	100	10.0	Р	4	40.0

Pass Exams: SGPA: CPY:5.56(165/300)

CGPA: **5.56(165/300)(55.00%)** Result: **B Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10022 Centre: 100 PRN: 10222000025

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PATIL RESHAM RAJESH



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	37	60	97	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	60	94	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	36	50	86	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:10.00(277/300)

CGPA: 10.00(277/300)(92.33%) Result: O Grade

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10023 Centre: 100 PRN: 10222000026

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PATIL VIJAY SAHEBRAO



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	32	38	70	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	32	30	62	100	4.0	Α	8	32.0
#CPY-T103	Yoga Practical	Р	30	42	72	100	10.0	A+	9	90.0

Pass Exams: SGPA: CPY:8.78(204/300)

CGPA: **8.78(204/300)(68.00%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10024 Centre: 100 PRN: 10222000027

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PAWAR BHAGYASHREE UTTAMRAO



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	36	28	64	100	4.0	Α	8	32.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	36	40	76	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	34	49	83	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:9.33(223/300)

CGPA: **9.33(223/300)(74.33%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10025 Centre: 100 PRN: 10222000028

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: PISE BHAGYASHREE RAGHUVIR



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	34	22	56+2\$	100	4.0	B+	7	28.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	32	66	100	4.0	Α	8	32.0
#CPY-T103	Yoga Practical	Р	30	42	72	100	10.0	A+	9	90.0
<u> </u>						<u> </u>			<u> </u>	

Pass Exams: SGPA: CPY:8.33(196/300)

CGPA: **8.33(196/300)(65.33%)** Result: **A Grade**

Date: 26 Feb. 2023

\$ 0.1

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10026 Centre: 100 PRN: 10222000029

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: RATHOD UMESH MOHAN



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	34	36	70	100	4.0	A+	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	26	60	100	4.0	Α	8	32.0
#CPY-T103	Yoga Practical	Р	34	45	79	100	10.0	A+	9	90.0

Pass Exams: SGPA: CPY:8.78(209/300)

CGPA: **8.78(209/300)(69.67%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10027 Centre: 100 PRN: 10222000030

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: SALUNKHE DARSHANA CHANDRAKANT



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	30	56	86	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	30	46	76	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	29	37	66	100	10.0	Α	8	80.0

Pass Exams: SGPA: CPY:8.67(228/300)

CGPA: **8.67(228/300)(76.00%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10028 Centre: 100 PRN: 10222000031

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: SONAR SWATI PRAKASH



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	36	50	86	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	36	48	84	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	34	51	85	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:10.00(255/300)

CGPA: **10.00(255/300)(85.00%)** Result: **O Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10029 Centre: 100 PRN: 10222000032

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: SONAWANE ANIL RAMDAS



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	25	42	67	100	4.0	Α	8	32.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	25	50	75	100	4.0	A+	9	36.0
#CPY-T103	Yoga Practical	Р	28	25	53	100	10.0	В	6	60.0

Pass Exams: SGPA: CPY:7.11(195/300)

CGPA: **7.11(195/300)(65.00%)** Result: **B+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY,2023

Seat No.: 10030 Centre: 100 PRN: 10222000033

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: SONWANE AASTHA ANIL



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	36	42	78	100	4.0	A +	9	36.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	52	86	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	32	45	77	100	10.0	A+	9	90.0
<u> </u>				<u> </u>		<u> </u>	<u> </u>		<u> </u>	

Pass Exams: SGPA: CPY:9.22(241/300)

CGPA: **9.22(241/300)(80.33%)** Result: **A+ Grade**

CERTIFICATE PROGRAMME IN YOGA EXAMINATION HELD IN FEBRUARY, 2023

Seat No.: 10031 Centre: 100 PRN: 10222000034

College: (100) Yoga Guidance Centere, K.B.C.N.M.U. Jalgaon

Name: SURYAWANSHI SANJANA SANTOSH



	Subject Name		INT	EXT	Total	Max	CR	GR	GP	TGP
#CPY-T101	Introduction to Yoga and Human Body	Р	36	46	82	100	4.0	0	10	40.0
#CPY-T102	Yoga for Wellness & Yoga Education	Р	34	50	84	100	4.0	0	10	40.0
#CPY-T103	Yoga Practical	Р	36	50	86	100	10.0	0	10	100.0

Pass Exams: SGPA: CPY:10.00(252/300)

CGPA: 10.00(252/300)(84.00%) Result: O Grade